Raised Garden Beds

4 foot x 8 foot

Materials:

Pressure-treated, pre-cut wood
o 4-4x4x24
o 4-2x4x96”
o 4-2x4x48"
o 8-1x6x17"
Galvanized Steel Metal Panels
o 3-96"x 26"
Screws
o 24 - 2" #10 deck screws, star head
o 32-3"#10 deck screws, star head
o 88 -1"#9 sharp point roof hex head

Assembly Steps:

1.

Assemble ends: Fasten 2 x 4 x 48” to 4 x 4 x 24” corner post at the top and
bottom using 3” #10 screws, 2 each board

a. Note: the top 2 x 4 boards are raised 1” above the corner posts, not flush
Attach the ends: fasten 2 x 4 x 96” to 4 x 4 x 24” corner post using 3” #10 screws,
2 each board

a. Note: again, 2 x 4 boards raised 1” above corner post
Attach panel boards: 1 x 6 x 17" to 4 x 4 x 24" using 2" #10 screws, 2 each board
Cut metal panels to fit inside frame

a. Note: CAREFUL these panels will be very sharp once cut!
Attach metal panels: fasten to 2 x 4 x 48” using 1” #9 roof screws around all four
sides, at about 10” spacing along the top and bottom and 4 on each side

A diagram is attached on the following page.



i é . 80 TYP N
112 1z M F g -4 zm
- —\ 2%4* LUMBER FRAM
N
i ﬁ 1 7 x4 SALVAGED FENCE POST (4) - g
GALVANIZED METAL PANEL e T THiee PASTEMRL TO42AE°
T 4 »
* \I 2%4* LUMBER FRAMING SECURED TO 4%4" ] SALVARZED METAL PANEL
-—
[
1]
5l & o n
o e - TYP. ELEVATION A"
EXTERIOR SIDE ELEVATION
Am. V=1
E! 43 TYP -3 TYP.
: x8' PLANTER BOX it thiod 11 11z
= a8 ==, —_ '
PLAN VIEW & 4 i . o
- L] X4 LUMBER FRAMIN o
o A ”.xm. hﬂmzmcqf M_Irfro =
g = i n
(214 - | — =
| & | GALVANZED METAL PANEL ——_ — -
5 17 1 —
- Ty ™ ! i
s . ! L &
< 4X4X2' SALVAGED FENCE POST (4) & ﬁ H‘WJ e L
; re J ]} GALVANZED METAL PANEL TYP. ELEVATION B TYP, ELEVATION 'C"
. il |~ 2" LUMBER FRAMING SECURED TO 474 EXTERIOA SIDE ELEVATION EXTERIQOR SIDE ELEVATION
&~ = 1= 1 {r R
Ao._
b 2'X8' PLANTER BOX B
- PLAN VIEW 5
2= re -
) A ASSEMBLY NOTES:
b N « ALL'WOOD FRAMING IS TO BE SECURED TO THE CORMER 4%4" REINFORCEMENT USING 2 §* EXT
1 11z SCREWS.
W]h- v *  GALVANIZED METAL PANELS TO BE SECURED BY 1" WOODTITE FASTENERS AT 12° 0.C. TOP AND
- i BOTTOM TO %4 WOOD FRAMING FROM THE INSIDE OF PLANTER BOX. SEE INSIDE CORNER ISOMETRIC
A oy FOR ATTACHMENT DIAGRAM.
= XA SALVAGED FENGE POSTS ) - _.xmﬂmw BE SECURED TO 4%4" CORNER REINFORCEMENT BY 24* EXT. SCREWS WITH CORNER EDGES
rr LS
GALVANIZED METAL PANEL L5 beston e
’a « (8 #X4 PLANTER BOXES
1 + (102 X8 PLANTER 80X - .//
2X4" LUMBER FRAMING SECURED T0 4°K4" /
SE | / P N
d ottty | [mdaiiing
- g .
3 I ~ ~ ~
Am.. ~ \\ \l _ // . ////
INSIDE CORNER ISOMETRIC
- ASSEMBLY DIAGRAM
a4’ PLANTER BOX 12 = 14

(373 :i‘

PLAN VIEW

12 = 14

S

(>

=

=

3
B =~
S
T
® = m
OE.

E=]
Buzds
EREER
Swiis
BN,
EXEES
o2 2%
Ok Z2:
- A

SKETCH 8. SK-04
TITLE:
PLANTER BOX DETAILS
SCALE: AS NOTED
DATE: 227
DRAWN BY: [




